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1x12;4—3(27+59)— 41><20*4—5(1+1)—
2 ' ' ‘ ‘ ' 4 2
1 1 1
12(§+§)+3><2+5.8= 4.6><15+3+3(§+4.2)=

301 2 1
12(=+ =)+4x3—- = = 49x20+4+5027— =)=
(4 2) x 3 - 9 x 20 5(2.7 5)
(26—1)><4—55— 1><6;2+4(25+1)—
2 ‘ 2 ' )

301 2 2
25(= 4+ =) +5x2+ = = 15(= —5.5)+ +25=
5(5 3) 5 x 3 5(3 55)+5%x5+25
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1 243
= x12+4-327+59)=(——)=("24
> @7+59)= (-7 =(

1o 187 7
12(=+2)+3x2+58= L — 1o
(373)7372738= 3 5

I 29 9
26— ~)x4-55=""—=2"
(2.6 3) 0 “10

3 1 2
25(-+z)+5x2+-=10
(5 3) 3

HIZh: A7

1673
41%20+4-5(=+ =)= 2L = 16>
S LY

I 183 3

46%15+3+3(= +42) = —> =362
6% 15+3+3(5 +42) =~ = 363

1
49%20+4+ 527~ 2)= 37

1 127 1
X 6+2+4Q25+ =)= = =13
2 @5+ 3973 2

2
I5(5 =5.5) =5 5+2.5= (-70)
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